


Maths Homework Y5 Mrs Ferrier and Mrs Davis
Date set:24/11/20
Date due: 30/11/20
You need to complete both sections

Section1 -
1. 712,646 = 710,000 + 2000 + 646

2. What is the value of the 6 in this
number: 639,472 600,000

3. Put these numbers in ascending
order:

193119 193911 193919 199119
4 12=72+6
B. 72=8x9

6. The temperature is 5°C. It drops
overnight by 7°C. What is the new
temperature? -2°C

Section 2 - Put each set of numbers in
descending order (use the negative number
line to help you):

1. O 5 -7 -2
5 0 -2 -7

2. -3 4 -8 5
5 4 -3 -8

3. -2 -10 0 -5
0 -2 -5 -10

Fill in the missing numbers in each
sequence:

4, 4 2 0 2 46
5. 12 9 6 -3 0 3
6. 2 84 0 -4 -8




